

DETERMINATION OF THE LAMBERT'S LAW INVOLVING I-FUNCTION

By

Prakash Singh

Department of Mathematics
Govt. P. G. College, Amarpatan (M. P.)

ABSTRACT

The aim of this paper is to represent the equation of Lambert's law by I-Function of one variable.

Keywords: I-Function, Lambert's law.

1. INTRODUCTION:

The I-function of one variable is defined by Saxena [3, p.366-375] and we will represent here in the following manner:

$$I_{p_i, q_i; r}^{m, n} [x] \left[\begin{matrix} [(a_j, \alpha_j)_{1, n}], [(a_{ji}, \alpha_{ji})_{n+1}, p_i] \\ [(b_j, \beta_j)_{1, m}], [(b_{ji}, \beta_{ji})_{m+1}, q_i] \end{matrix} \right] = (1/2\pi i) \int_L \theta(s) x^s ds \quad (1)$$

where $i = \sqrt{-1}$,

$$\theta(s) = \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \left[\prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right]}$$

integral is convergent, when $(B > 0, A \leq 0)$, where

$$B = \sum_{j=1}^n \alpha_j - \sum_{j=n+1}^{p_i} \alpha_{ji} + \sum_{j=1}^m \beta_j - \sum_{j=m+1}^{q_i} \beta_{ji}, \quad (2)$$

$$A = \sum_{j=1}^{p_i} \alpha_{ji} - \sum_{j=1}^{q_i} \beta_{ji}, \quad (3)$$

$$|\arg x| < \frac{1}{2} B\pi, \quad \forall i \in (1, 2, \dots, r). \quad (4)$$

2. MAIN RESULT:

The equation of Lambert's law in terms of I-function of one variable to be represented is:

$$\begin{aligned} & \int I_{p_i+1, q_i+1; r}^{m+1, n} [x]_{(I, I_1), \dots, (1+I, I_1)}^{(1+I, I_1)} dI \\ &= -k I_{p_i+1, q_i+1; r}^{m, n+1} [x]_{(I, I_1), \dots, (1-t, t_1)}^{(-t, t_1)} + c I_{p_i, q_i; r}^{m, n} [x], \end{aligned} \quad (5)$$

valid for $I > I_1$, $t > t_1$ and $|\arg x| < \frac{1}{2} \pi B$, where B is given in (2).

Proof of the Formula:

Let I be the intensity of incident light of wave length l , t be the thickness of medium, then Lambert's law mathematically [1] denoted as

$$dI/dt = -kI$$

$$\text{or} \quad dI/I = -k dt \quad (6)$$

On integrating, (6) provides

$$\int dI/I = -k \int dt + c$$

$$\text{or} \quad \int [\Gamma(I)/\Gamma(I+1)] = -kt + c$$

$$\text{or} \quad \int [\Gamma(I)/\Gamma(I+1)] = -k [\Gamma(t+1)/\Gamma(t)] + c \quad (7)$$

where c is integral constant.

Again put $t = t + t_1s$, $I = I - I_1s$ (since as thickness of medium increases, intensity of light decrease) in (7) and multiply both side by $(1/2\pi i)\theta(s)x^s$, further integrate with respect to s in the direction of contour L and use (1), we get (5).

3. SPECIAL CASE:

On choosing $r = 1$ in (5), we get following formula for Lambert's law in terms of H-function [2] of one variable as follows:

$$\begin{aligned} & \int H_{p+1, q+1}^{m+1, n} [x]_{(I, I_1), (b_j, \beta_j)_{1, q}}^{(a_j, \alpha_j)_{1, p}, (1+I, I_1)} dI \\ &= -k H_{p+1, q+1}^{m, n+1} [x]_{(b_j, \beta_j)_{1, q}, (1-t, t_1)}^{(-t, t_1), (a_j, \alpha_j)_{1, p}} + c H_{p, q}^{m, n} [x]_{(b_j, \beta_j)_{1, q}}^{(a_j, \alpha_j)_{1, p}}, \end{aligned} \quad (8)$$

valid for $I > I_1$, $t > t_1$ and $|\arg x| < \frac{1}{2} \pi A$, where A is given by

$$\sum_{j=1}^n \alpha_j - \sum_{j=n+1}^p \alpha_j + \sum_{j=1}^m \beta_j - \sum_{j=m+1}^q \beta_j \equiv A > 0,$$

REFERENCES

1. Gupta, V. K.: Advanced Physical Chemistry, K. Nath & Co. Meerut, 1994.
2. Mittal, P. K. and Gupta Gupta, K. C.: An integral involving generalized function of two variables, Proc. Indian Acad. Sci., 75 A, p. 117-123.
3. Saxena, V. P.: Formal solution of certain new pair of dual integral equation involving H-function, proc. Nat Acad. Sci. India, 52 A (1982), p. 366 – 375.